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0000h: 7F 45 4C 46 02 01 01 00 00
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Unix elf 745 4c 46 ELF

KA IDAFT FF R BImainik $ &5 RS
HoE —4encode ) H % .

HHEO o & x ID4 View—i [x] THR Ge— [T ToNHEIE
FECEFR Bn 1[int _ cdecl main(int argc, const char **argv, const char **envp)
? _init_proc L1 2( )

7 sub_1020 B 3| char s; // [rsp+8h] [rbp-1E@h]
7| _puts o7 4| char v5; // [rsp+F@h] [rbp-F@h]

] _strlen -p 5
7| _printf .D 6| memset(&s, @, @x1Eull);

? _memset .p 7| printf("Please Input Key: ", QLL);

F| _strcap .p 8| _ 1s0c¢99_scanf("%s", &v5);
_L___isoc%_scanf .D 9| encode(&v5, &s);

Lf| __cxa_finalize .p 18| if ( strlen(&v5) == key )

_L_start .t 11
_L deregister_tm_clones .t 12 if ( !strcmp(&s, enflag) )
|f | register_tm_clones .t 13 puts("You are Right");
_L__do_global_dtors_aux .t 14 else
£ | frane_dunny -1 15 puts("flag{This_1s_fdcker flag}");
L encode .t 16| }

i main *-"-_ =t 17| return @;
_L _libc_csu init .t 18[y
_L__libc_csu_fini .t

_L_term_proc L1

_Lputs ex

_L strlen ex

florintf ex ¥
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BAIEHEE — Tencode R HHI KL, HEEABLEMERKRATERET .

EE SRR B 1;nt _ fastcall encode(const char *al, _ int64 a2)
-, : 2

f|_init_proc i ) B

] sub_1020 . 3| char v3[32]; // [rsp+18h] [rbp-76h]
7| _puts .p 4| char v4[32]; // [rsp+3@h] [rbp-56h]
?:strlen .D 5| char v5[48]; // [rsp+58h] [rbp-38h]
'F| _printf .p 6| int v6; // [rsp+78h] [rbp-8h]

| _memset .p 7| dnt i; // [rsp+7Ch] [rbp-4h]

z _strcap .p 8

_L ___igoc99_scanf .1 9] 1 = 8;

_L __cxa_finalize B 18 wvb = @;

f| _start .t 11| if ( strlen(al) != key )

|f | derezister_tm_clones ot 12 return puts("Your Length is Wrong");
_Lregister_tm_clones .t 13| for (i =0; i< key; i +=3)
_L__do_global_dtors_aux .t 14 {

Sl -t 15 v5[i] = key ™ (al[i] + 6);
"3 i 16| vA[i + 1] = (21[i + 1] - 6) ~ key;
== .. . 17 vi[i + 2] = al[1 + 2] ™~ & ™ key;

L] --libc_csu_init ' 18] *(BYTE ¥)(a2 + 1) = v5[il;

Fi libe_csu_fini .t . .
?_;erm Troc P 19 *( BYTE *)(a2 + 1 + 1LL) = v4[1 + 1];
Sl outes = - 20| *(BYTE #)(a2 + i + 2LL) = v3[i + 2];
= 21| }

f|strlen ex R

florintf ex ¥ ;é} return aZ;
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T Zpython’S H 4.
enflag=[105, 122, 119, 104, 114, 111, 122, 34, 34, 119,
34,118, 46, 75, 34, 46, 78, 105, 0]
flag="

foriinrange(0,18,3):
flag+=chr((18"enflag[i])-6)
flag+=chr((18”enflag[i+1])+6)
flag+=chr(18¢nflagli+2lg)

print(flag)
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B %45 %flag: unctf{b66_6b6_66b}
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